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Instructions : (1) Figures to the right side indicate full marks of the

Q
(2) Simple calculator is allowed.

1. (a) Define correlation and discuss Spearman’s rank co 4
OR
What is association ? Discuss different
) (b) Calculate the coefficient of correlation and supply from the
following data and comment :
Price (Z/unit)
Supply (in thousand \
~ Find rank comro from the following data :
200 4%

ng data, find Yule s coefficient of association between

(¢)

30 20
Y ¢

OR

Determine the nature of association by comparing observed frequency and
expected frequency for the following data :

600 students appeared in an examination 250 out of them were girls. 450
students were successful and 150 of them were girls. |
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(a) What is business forecasting ? State its uses. 4

OR

Explain the following methods of business forecasting :

(i) Regression method
(1) Graphical method
6

(b) Fit a straight-line to the following data and forecast of the sells for t

Years : ~ 1986 1987 1988 1980 1990
Sales (‘000 %) 20 24 26 30 40

OR

Taking the initial forecast 100 and o. = 0.6 o t for the following

data using exponential smoothing m

Years 1999 2000 2
2

Sales (100 units) 200 0

ing degree parabola to a given data. Explain
4
ExplaiU t square for business forecasting.

of demographic statistics. 4

(c) Explain the method ©
its use in forecastin

O

OR

Explain the .fnllﬂwing terms :
(1) Vital statistics

(11) Infant mortality Rate
(111) General Fertility Rate
(iv) Crude Birth Rate
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(b) Find CDR and SDR for both city : i e 6
City - A City-B Std.

Age _ .
(in years) Population | Death per | Population | Death pﬁ;p l::;:::m .
(in '000) | thousand | (in '000) Rate (in *000) *

Below s 16 45 8 35
5-20 40 20 30 18

20-45 25 18 20 13
45-60 15 12 10
Above 60 14 | 4 0| 7
OR
For the following data find GFR, SFR and TFR :

Age : 14-18 19-23 24-28 29-

No.of women 42 40 48
(in '000)

No. of births 1000 3680

22 28 10

1920 680 180 20

(¢) The total population cit e proportion of males and females in
the city is 4 : 3. Amon I 55% are in fertility age of groups. If the
GFR of the city 1s 4 its crude birth rate. -+

OR

earing age. If the GFR is 40, estimate the number of
born during the next year.

th illustration 4
mn matrix

(11) Unit matrix

(ii1) Skew-symmetric matrix

(iv) Triangular matrix

OR

Define matrix and explain difference between matrix and determinant.
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(b) Solve the following equation by matrix method :
2x+4y+z=062
S5x+3y+4z=106
3x+6y+ 10z=212
OR

] 2
IfA=[ 3 4 ] then find A® +4A —3A"+ 5A”".

8 0 o R [
(c) IfAB= | 2 and A = then find matrix B.

4 1 (
OR
1 -1 1 a
lfx=[2 g ];y=[4 b and (x + y)’ = x*

5. Answer the following questions in short :
(1) State two illustrations which shows n

14

etween two variables.
(2) Show scatter diagram for r = 0.

(3) Interprete forr>6 ( i)

4 (A) =40, (B) = 70, = 30 then decide ‘the type’ of association

(5) tting a straight line.

(6)
(7) T, =8 then find ¥,.
(8)

estimate T, in method of exponential smoothing.

Giving definition of diagonal matrix, explain principal diagonal elements.
Explain I, matrix with illustration.

(13) Write necessary condition for existence of addition, subtraction and multiplication
between two matrices.
(14) Explain equal matrices and transpose of a matrix.
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